1. For the KHN biquad below, answer the following questions. Full credit will not be given without explanation.
Assume that all amplifiers are ideal.
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() Find the transfer function of the filter. Specify the filter’s function.

V= 1 v 1 = 1 VV_VinR5+VyR4<1+R6> v Rs
YR Cs KM T R, C,s YT RiR,CiCps2 XX T R, +Rs R; Ut R,
Rg Re

Vout(s) R, + R; (1 + R_g) 1

R4 1 R6#R1R2C1C2
R, + R:R.C, (1+ R- )5 YRR RCG,

= Low-Pass Filter

Vm(s) _SZ+

(b) Derive Q and w,.
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(c) Determine the sensitivities of the KHN biquad. (|S R1Rp,C1CaRs, R6| |S‘,§’ | |S RyR,Ch, Czl |S RaRe |)
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